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QUESTION 1

With the addition of local protection to vSAN stretched clusters, which factors determine the maximum level of object
protection? 

A. License edition, failure tolerance method, and Primary and/or Secondary level of failures to tolerate 

B. Hardware choice (hybrid or all-flash), number of hosts, and object space reservation 

C. Failure tolerance method, and Primary and/or Secondary level of failures to tolerate, and host count 

D. Hardware choice (hybrid or all-flash), failure tolerance method, and stripe width 

Correct Answer: C 

 

QUESTION 2

Which three of the listed objects types can be viewed in the vSAN Used Capacity Breakdown user interface? (Choose
three.) 

A. Swap objects 

B. Disk groups 

C. File system overhead 

D. Virtual disks 

E. Physical disks 

Correct Answer: ACD 

References: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.virtualsan.doc/GUID-6F7F134EA6F7-4459-8C31-C021FF2B1F54.html 

 

QUESTION 3

Which three pieces of information are provided by the vSAN TCO and Sizing Calculator? (Choose three.) 

A. Detailed Visio diagram on how to deploy 

B. License and storage options 

C. Minimum network bandwidth requirements 

D. Sizing results and ReadyNode configuration 

E. Downloadable PowerPoint including sizing recommendations and TCO results 

Correct Answer: BCD 
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QUESTION 4

vSAN supports Microsoft Windows Server Failover Cluster (WSFC) with which configuration? 

A. File share witness quorum with Exchange Database Availability Groups, SQL Server AlwaysON Availability Groups
(AAG) 

B. Virtual raw device mapping (RDM) with Exchange Database Availability Groups, SQL Server AlwaysOn Availability
Groups (AAG) 

C. FCI witness quorum with Exchange Database Availability Groups, SQL Server AlwaysOn Availability Groups (AAG) 

D. NFS mount witness quorum with Exchange Database Availability Groups, SQL Server AlwaysON Availability Groups
(AAG) 

Correct Answer: C 

 

QUESTION 5

Which two statements are true regarding storage policies? (Choose two.) 

A. Each VMDK within a VM may be assigned a different storage policy. 

B. Storage policies can be created that are not compatible with any datastores. 

C. Multiple storage policies can be assigned to a single VMDK. 

D. A maximum of four storage policies per datastore can be created. 

Correct Answer: AC 
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